versione0
Equazioni differenziali — 0

ns)= Si n'pIify[DSoI ve[{y' [X] = —:y[z] +6X, y[w/?] = 3},
- X

yix1, x]]
ours= {{yx] - -3 (8—2x2+m)}}

Funzioni di due variabili, punticritici— 0
nt= gIX_, Y_1:= y?Log[x +Y]
npzp= £ IX_, y_1:=g[x, yl; Expand[f [X, y]]
ouzl= y* Log[x +Y]
niis= grad = Expand [{DIf [X, y1, x1, DIf [X, y1, y1}]

y? y?
out[13]= {x y’ " y+2yLog|[x+y]}
+ +

Oy, xf [X, ¥y] 6x,yf [X, ¥y]
oy, xf[x, y1 oy, yf X, ¥yl
Sinplify[MatrixFormH[X, y]1]

Out[16]//MatrixForm=

npsl= H[X_, y_1 = {

Y y (2x+y)
(x+y)? (x+y)?
y (2x+y) Y (4x+3Y)
+2Log[x +
(x+y)?2 (x+y)?2 9l Y]

in171:= Siplify[MatrixForm[H[x, 0]1]

Out[17]//MatrixForm=
( )
0 2 LOg [X]

Integrale doppio — 0
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eX

o= fIX_, y_1:=

l+y27

Tan[X]

Si n’plify[{jo fIx, y1dy,

l Tan[X]
j“f f [x, y]dlydlx}]
o Jo

1
out[21]= {ex ArcTan[Tan[x]], 1+ Z & (-4 + ) }

X

@
neap= X, y_1:= :
1 +y2
Si rrplify[{jz f [x, y] dx,
ArcTan[y]

=
jf fIx ylaxay}]
0 JArcTan[y]

en/4 _ eAr cTan[y]

1
outpdl {———— 1+ — &4 (=4 + )
[24]
1+y? 4

Numero complesso - 0
1 V3

Inf27]:= W= — +
2 2

Solve[{ws (x -y i) =x+yi, x*+y® =4}, {xX, y}]

out[28]= {{x»—\/?, ye—l}, {x»ﬁ, yel}}

o= Solve[wx e ==et!, t]

;

Solve::ifun :
Inverse functions are being used by Solve, so some solutions may not be found; use Reduce
for complete solution information. >

us

e {ft > 7))

Matrice, autovalori... — 0

2 2
2 2)
Print [Ei genval ues[al];

Orthogonal i ze [Ei genvectors[a]]

{4, 0}

out[59]= { {

In[57]:= a = (

1

1
vz vz

1 1
NFRENPY

Jo{- J)



